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Comitdn de Dominguez Chiapas, Diciembre 2021

Practica el vocabulario de ropa “clothes”. Page 35.

CLOTHES FOR WORK CLOTHES FOR LEISURE

@p

sweater

T-shirt e
M
Yy

shorts

suit gloves jeans

\\/ .
high heels boots sneakers

raincoat pajamas swimsuits

Responde el siguiente ejercicio en la pagina 39.

Recuerda, usamos pronombres y verbo to be como de costumbre, pero ahora estamos
agregando un verbo mas: “wearing”. | am wearing jeans, significa: estoy usando jeans.

31




'm I’'m not OR: Conjunctions
You're You’re not You aren’t It's snowing,
She’s wearing shoes. She’s not She isn’t wearing boots. and it's windy.

We're We’re not We aren’t It's sunny,
They're They’re not  They aren’t but it's cold.

It's snowing. I's not It isn"t raining. Ws x":,:"very cold

2 Present continuous statements; conjunctions

P The present continuous is the present of be + verb + -ing: It's raining.
She’s wearing shoes.

» The two negative contractions mean the same: He's not/He isn’t wearing a
coat. We're not/We aren’t wearing gloves.

Change the affirmative sentences to negative sentences. Change the negative
sentences to affirmative sentences.

1. Mr. and Mrs. Lee are wearing hats. Mr. and Mrs. Leg arent wearing hats..........coe...
2. Itisn'training. Itisraining
3. I'm wearing sunglasses. .......... I'am not wearing sunglasses ...
4. You're wearing a NeW SUIL. ... nmcmnsssccssmnassssssssssssssns You are not wearing a new suit ...
5. Michiko isn't wearing gloVes. . Michiko is Wearing GIOVes  «iwssrssmmssmssesssmssemssusssssssssissassssssasssssss

Responde a la siguiente pregunta:
What are you wearing?

| am wearing gray pajamas with black

I’'m wearing gray and pinck koala slippers




Completa el gjercicio en pagina 40
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My name is Claire. | .M.wearing......... a green It's very hot today. Toshi and Noriko
suittoday. | . ‘m wearine - high heels, too. are wearing - shorts and T-shirts. It's really
It's faining, but ‘m not wearing @ raincoat. auniny, IV ey - gre wearing sunglasses.

Phil .. '*WeM8 4 suit today - he It's cold to Iswearine 7 . a
is wearing - pantsand a jacket. coat. She . Iswearing ... gloves and a hat.
e . _ a light blue shirt, but She Isnotwearing boots, She

he "WeNE 4 tie. sneakers.

Is not wearing She is wearing



Ahora responde el ejercicio de la pdagina 41.

Are you wearing gloves? Yes, | am. No, I‘m not.

Is she wearing boots? Yes, she is. No, she’s not./No, she isn‘t.
Are they wearing sunglasses? Yes, they are. No, they’re not./No, they aren’t.

' B PAIRWORK Ask and answer these questions about the people in part A. .@
Not he is not

1. Is Claire wearing a green <niit?  Vec che s 7. lIs Phil wearing brown pant _ )
2. Is she wearing a raincoal not sheisn’t 8. Is he wearing a blue shirt? Yes he is
3. Is she wearing high heels? Yes.sheis 9. Is he wearing a tie? Not he is not
4, Are Toshi and Noriko wearip~ srirmenise? Not thev are not ' wearing boous: Not she i< not
5. Are they wearing jackets?  They aren’t .. = e o/E3ring a coat? T No she not
6. Are they wearing sunglasses?  yes they are 12. Is she wearing a hat and gloves? Yes she is
i
A: Is Claire wearing a green suit?
B: Yes, she is. Is she wearing a raincoat?
A: No, she’s not. or No, she isn't. My suit is black.

I'm wearing a black suit.

Realiza el ejercicio de la pagina 48

A Wwrite sentences. Use the words in parentheses.

Todd Alicia Chul-woo Maya Maggie Hugo
Huago is wearing a tie. (tie)
Todd and Alicia are wearing boots (boots)
Chol-woo he is wearing t-shirt (T-shirt)

Maggie is wearing a shirt _  (skirt)

Maya is wearing a dress (dress)
Chol-woo he is wearing sneakers ~ (sneakers)

Todd he is wearing a scarf (scarf)

0N W BN e

Hugo and todd he is wearing a hats - (hats)




What are you doing? Present continuous
Puedes leer el siguiente enlace para conocer de qué trata el presente continuo

https://www.britishcouncil.org.mx/blog/present-continuous

También puedes ver el siguiente video:

https://www.youtube.com/watchev=zDmTxdH4t|E

PRESENT CONTINUOUS — FORM

test-english@com

(T'm) )

(You are) (You're] You are not) (You aren't)
Heis) (He's He is not
She is) (She's) She is not >
Ity (It Ttisnof)  [tisn't
We are) (We're) (We are not) (We aren't)
(They are)(They're), (They are not) (They aren't) )

v "

NEGATIVE

POSITIVE

) Yes, I am) (No, I am not) (No, I'm not)

(Yes, you are) |(No, you are not) (No, you aren't)

Yes, he is) (No, he is not) (No, he isn't)
(Yes, she is) |(No, she is not)  (No, she isn't)
Yes, it is) (No, it is not) (No, it isn't)

(Yes, we are) |(No, we are nof) (No, we aren't)

} working

QUESTION
SHORT ANSWER

(Yes, they are)|(No, they are not) (No, they aren't)

WFIFT coveens v aia g
-ING SPELLING JJEFAID I8 consonant + -e : delete - and add -ing
mm Consonant + vowel + consonant (stressed):
. double the consonant + -ing
tlest-lengliilshgicom

-



https://www.britishcouncil.org.mx/blog/present-continuous
https://www.youtube.com/watch?v=zDmTxdH4tjE

= . 3 :
Los Angeles 4:00 a.m. Mexico City 6:00 a.m. New York City  7:00 a.m.

What's Victorio deing? What's Marcos doing? What are Sue and Tom doing?
She’s sleeping right now [t's 6:00 a.m., so he’s getting up.  They're having breakfast

Brasilla 9:00 A London 12:00 noon " Moscow 3:00 p.M.

What's Célia doing? What are Jim and Ann deing? What's Andrei doing?
She’s going to work. I's hoon, so they're eating lunch.  He’s working.

e ——

Bangkok 7:00 p.m.

Your city 00:00

What'’s Permsak doing? What'’s Hiroshi doing? What are you doing?

Responde alas siguientes preguntas de pagina 55

A PAIRWORK Ask and answer the questions about the pictures. =

1. Wha's sleeping now? 5. What's Célia wearing?

2. Who's having breakfast? 6. What's Marcos wearing? sleep — sleeping

3. Where's Andrei working? 7. Why is Marcos getting up? get — gefting [+ 1)

4. Where's Hiroshi checking 8. Why are Jim and Ann have —s having (- €|
his email? having lunch?

1.Victoria is sleeping 2. Sue and tom are heaving breakfast 3. Andrew is working in Moscow
4 Hiroshi is checking his email in Tokyo 5.She is wearing a blue yaket

6.Marcos is wearing a red pijamas 7.Because it’s six in the morning 8.Because it’s twelve



Ahora, escribe y responde preguntas en el ejercicio de la pagina 56

2 Present continuous Wh-questions

Yy vYv Y

1.

Use the present continuous to talk about actions that are happening right now:
What are you doing? I'm talking to you!
In questions, the be verb comes before the subject: What are you doing?
To form the continuous of verbs ending in e, drop the e and add -ing:
have - having.
For verbs ending in vowel + consonant, double the consonant and add -ing:
get - getting.
What are the people doing? Write conversations. Use the words in parentheses.

A: Whaks QUEVE AQUNAL. . rcrrensisiemssemsisnness. (STEVE)

B e Wakohing 1Y (watch TV)

A Where is jon and megan dning? e (Jon and Megan)

- P — They take awalk . (take a walk)

A What are you doing? . (you)

B: I write conversations  (write conversations)

A: Who is chris talking to? ‘Chris)

Tl R S He's calling ashley o) Ashley)

A Where are you and Taylor doing? ... (you and Taylor)
B Lets go shopping - (shop)

A Whatis sara doing? ... .. (Sara)

B R goingtodinner - (ov6 dinner)

f Cm— Where is victor and sam going? . (Victor and Sam)

B i They go runningin the park . (run in the park)

A" What are you and paulo doing? < (you and Paulo)

. —— . (chat online)

)

Para finalizar, responde a la siguiente pregunta

---------------- They are chatting online

What are you doing? (Escribe al menos 3 oraciones distintas)

1.- i am doing my english homework

2.- I’'m fixing my clothes from the closet

3.- | am watching a romantic movie



